
2x Bracket

8x M6x16mm

8x M6 Nylock



8x M3x8

2x Lever



2x Lever

2x M8x25mm

2x ID:10mm OD:30mm
Metal Washer

2x ID:8mm OD:24mm
Metal Washer

2x M8 Nylock nut

Metal Washer

Plastic Washer

Metal Washer
2x ID:10mm OD:30mm
Plastic Washer



2x Lever 1

2x Lever 2

4x M8x25mm

4x ID:10mm OD:30mm
Plastic Washer

4x ID:8mm OD:24mm

4x M8 nylock nut

Metal Washer

Plastic Washer

Metal Washer

4x ID:10mm OD:30mm
Metal Washer





2x M6x40mm

2x M6 Nylock nut



2x M10x50mm

4x ID:10mm OD:30mm
Plastic Washer

2x M10 Nylock nut


	Sheets and Views
	Sheet1

	Sheets and Views
	Sheet1

	Sheets and Views
	Sheet1

	Sheets and Views
	Sheet1

	Sheets and Views
	Sheet1

	Sheets and Views
	Sheet1

	Sheets and Views
	Sheet1


